
 

La boîte à énigmes  

solutions 
 

1  2  3  4  5 

144 855 l  192,5 g  338 voitures  
9 faces  

23 arêtes 
 

14,48 m 
environ 

         

6  7  8  9  10 

2,38 g  
Non, le 

plein coute 
60,42€ 

 6m29  
Sens inverse 

aiguilles 
montre 

 26,25 m 

         

11  12  13  14  15 

3 km  7 700  140  2 250 dollars  337,5 g 

      
   

16  17  18  19  20 

2000 tuiles  194,38 m  Oui   
291 550 

traverses 
 180 m² 

         
21  22  23  24  

 Il faut 84 
cachets donc 

3 boites 
 

0,5 l par 
minute 

 42 sec  18 °  

 


